




Substitution

[M/X) x = M

[Mix] Y = Y

xFY

[M/XAN=Ay. [M/XON X/YY#FV(M)

[MK] (M, M  (MK)M, [M]M 



"Programming" in i-calculus

Last time:  x.x Identity (returns its argument)

e.g. (dx.x) (dy.y)   dy.y

(dx.x) ((dy. y) (dz. 2 2)) (dy. Y) (Az. 22)

H7 12.22

JCBV

(dx.x) (12.22)

17 12.22

Multiple Arguments

Functions in d-calo can only take one argument.

Ax.Ay.X & Function that takes on arg X and returns a

function that takes an argy and returns X.

dx.dy.y returns 2nd

dx.dy. dz. y returns 24 of 3 orgs

(dx.dy. x) (dz. 2); (dw.w)

» ((dz.z (x) (dy.x)) (dw.w)"

= (ly.x2.2) (1w.w)

+> [Amw/y] Az-z

= 1.2.2

(dx.dx.x) (12.2)

  dy. 12.2

• fmc. are associates left

to make it, look more like

a 2org. fuse.

func.

will return 12.2 no matter what.

Can just pass one ang!

"Partial application

Still waiting to take 2nd ang



Booleans ("Church Boolems" after Alonzo (hweh)

Need: true, false, if

if true then e, else e  fi=e 

if false then e, else ez ii zer

On  ly have functions and application

detine as

Try: if e then e else ez € e e, ez

What are true and false?

true @t. A f. t

falset.f.f

(dt. if.t) (dx.x) (ly.y)

= AX.X

Recursion

Got a hint last time: ( x.xx) ( ) x.xx)   ( x.xx) (dx.xx)+...

"Self-application"




